
スタディーＸ 数学 中３ 根号を含む式の乗除 ２ 

━━━━━━━━━━━━━━━━━━━━━━━━━━http://www.study-x.com/ 

1 次の式を計算せよ。 

(1) 3322       (2) 34)72(   

 

 

 

(3) 128       (4) )54(75   

 

 

 

 

2 次の式を計算せよ。 

(1) 62     (2) 102     (3) 142   

 

 

 

 

(4) 63    (5) 153    (6) 183  

 

 

 

 

(7) 155     (8) 105     (9) 306   

 

 

 

 

(10) 1133     (11) 728     (12) 621  

 

 

 

 

 

 

(13) 2054     (14) 1830     (15) 4228   

 

 

 



【解答】 

1 

(1) 66  

(2) 218  

(3) 64  

(4) 245  

2 

(1) 32  

(2) 52  

(3) 72  

(4) 23  

(5) 53  

(6) 63  

(7) 35  

(8) 25  

(9) 56  

(10) 311  

(11) 14  

(12) 143  

(13) 306  

(14) 156  

(15) 614  


